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QUESTION 1

Which statement is true about instance caging setup? 

A. Instance caging is the right approach to make sure that database instances are not stealing memory from each
other. 

B. The CPU Resource Manager and IORM need to be enabled to make instance caging to work as expected. 

C. Database instances need to be restarted to make changes to cpu_count effective. 

D. For a system with 16 threads, the sum of cpu_count for all databases should not be higher than 32 to prevent
oversubscribing 

E. The init.org parameter resource_manager_plan should be set. 

Correct Answer: D 

 

QUESTION 2

Which three statements accurately describe update of software on Exadata Database Machine? 

A. The Oracle Database patchset software (for example, 11.2.0.3) requires the Exadata-specific version. 

B. Rolling patching is faster than non-rolling patching, but database down time is longer. 

C. The Oracle Database software on Exadata is updated using standard OPatch and the Oracle Universal Installer. 

D. Running Exadata with different storage server software versions is supported, but should be minimized to rolling
patching scenarios. 

E. The database server operating system software (other than kernel and OFED) may be installed or updated from non-
Exadata sources 

F. Storage server updates require access to an Unbreakable Linux Network (ULN) based repository. 

Correct Answer: CDF 

 

QUESTION 3

In looking to improve query performance for your Data Warehouse, select the best way that Exadata\\'s Flash Cache
feature can be leveraged? 

A. Enable Smart Flash Log. 

B. Execute alter table ... cell_flash_cache=keep on heavily scanned tables. 

C. Enable Write Back Flash Cache. 

D. Create an ASM diskgroup on Flash Cache and move the indexes from disk to Flash. 
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Correct Answer: B 

 

QUESTION 4

Your customer has purchased their brand new Exadata Database Machine X3-2 Full rack to achieve 20- TB-per-hour
backups on their 300 TB database. You have been called to determine why they are not able to achieve even half that
rate. Use the information in the image below to identify two reasons their backups are still slow. 

100% Real QandAs | 100% Real Pass 

A. LVM snapshots are not configured properly on the Database Server. 

B. The Media Server to Tape Library transfer is causing a bottleneck. 

C. The number of tape drives is causing a bottleneck. 

D. Exadata backups are being performed using RMAN over the 10 Gigabit Ethernet network. 

E. The number of database servers is causing a bottleneck. 

Correct Answer: BC 

 

QUESTION 5

Which two attributes describe key benefits of the InfiniBand network? 

A. All Exadata database servers have a direct path link to each Exadata Storage Server. 

B. Cell-to-cell communication uses Reliable Datagram Sockets (RDS) over InfiniBand to achieve low latency. 

C. Expanding from two Full racks to four only requires adding an external InfiniBand switch to be at the top of the fat-
tree topology. 

D. Each InfiniBand link provides 10 Gigabits of bandwidth. 
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E. Oracle\\'s interconnect protocol uses direct memory access (DMA) to eliminate buffer copies and reduce CPU use. 

Correct Answer: CE 
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